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PHYSICS *

Dynamics

fnrcem(ﬁ} = mass (kg) x acceleration (ms_z)

= mass (kg) * g (gravitational field strength)

distance (m)
time (5)

speed (ms ) =

change in velocity (ms )
change in time (5)

acceleration (ms )

Moment

moment (Nm) = force (N} = perpendicular distance to pivot (m)




mass (kg)

density (p) =

volume {mg)

Pressure

pressure (Pa) = L2ree@

area (m)
pressure (Pa) = h (m) xp (density) X g
(gravitational field strength)

work done (J) = force (N) x distance (m)
power EW) = work dane (f)

timne ()
kinetic energy (J) = {7 ®x mass (kg) = veincit}rz {ms-lj

gravitationel potential energy (J1 = mass{kg) = g = height (m)

velocity {ms_l} = frequency (Hz) x A{wavelengthm)
frequency (Hz) = m
perfod = time taken for one wave




sin{ (angle of incidence)
stnr (angle of refraction)

refractive index (n) =

speed of light in vacuum
speed of [ight in medium

refractive index (n)

1
sin C (eritical angle)

refractive index (n)

E = energy (J)
P = power (W)
T = time (s)
| = current (a)
V = voltage (V)

R = resistance (ohms)

Parallel Circuit
V= "l"]_ = vg = '173

I=L+L =+l

Left Hand Rule




